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PRE-ALGEBRA ACCELERATED
OPERATIONS WITH INTEGERS

What’s the Score?

—18.1 T

74

To find out on which score the arrow lands, cross out the answer to each
exercise below. The arrow lands on the number that is not crossed out at

the end. \

1. -85+ =3 = 2. The opposite of —5.6 =
3. 0.8 =02 — 15= 4. (~8.1)(-)=__
5.‘—31§-+1=__ 6 (=¥=__

7.102 - |-5| = 8. —49+(=1)=___
9. (-2)? = 10 0.75(-0.5) =
i1, —3 - 15,1 = : 12. 7.0+ —15 =

13. —0.4 = (—0.25) =‘ 14. ! =

15. (-2.5+ -3.1)+5.6= 16. (5)(—1)+(—3)(—2):._

The arrow lands on




